Scanned by CamScanner



Q 3) Attempt the following.f

| ‘ ~ i 1 of >scope.
A) Derive an expression for the resolving power of a t‘elles p

OR

A) Describe the principle. construction and working of“Mlclqelsqn ‘Inte;fem

B) Describe Michelson-Interferometer. How will you use it to" calvlb:rate,

terms of a standard wavelength?

OR -

B) Show that for a plane transmission gx s IRUP = nN

C),What is the diameter of the objective of a telescope which is used.to resol
distant point objects by 6.1x107° radians for light of wavelength 5890A.

OR

0.4220mm.Determine the numbel of hmoes th'lt passes that passes the CIos
light of wavelength 56’)7A e SR .

Q4. Attempt any three of the following: =
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